

Corporate sustainability and value creation: the case of the "Dow Jones Sustainability Index"

Sustentabilidade corporativa e criação de valor: o caso "Dow Jones Sustainability Index"



ISSN 0104-530X (Print) ISSN 1806-9649 (Online)

Ana Paula Pinheiro Zago^{1,2} Charbell José Chiappetta Jabbour^{3,4} Nádia Campos Pereira Bruhn^{2,5}

Abstract: Choosing an enterprise that will be part of Dow Jones Sustainability Index (DJSI) raises some expectations concerning this conquest benefits. We hope that the investment on sustainable development and the inclusion of the company in this select group bring economic and strategic benefits that can reflect in the company market valorization. However, the correlation between social, environmental and financial development is quite complex. In this context, this paper aims to verify whether the inclusion of an enterprise in DSJI list, which presupposes a high social and environmental performance, provides it with greater financial return. We use the case study method in order to investigate the existence of abnormal returns when disclosing the information of the company inclusion in the list, as well to analyze the hypothesis that market has positive expectations concerning to DSJI participation. This study included one hundred and fifty-four companies listed in DSJI that trade their shares on the New York Stock. The results show no effect and do not confirm the greater return hypothesis, but neither do they indicate a reduction in financial performance associated do this fact.

Keywords: Dow Jones Sustainability Index; Corporate sustainability; Financial performance.

Resumo: A escolha de uma empresa para fazer parte da listagem do DJSI gera uma série de expectativas quanto aos beneficios advindos dessa conquista. Espera-se que o investimento no desenvolvimento sustentável e a consequente inclusão da empresa nesse seleto grupo traga beneficios econômicos e estratégicos refletidos na valorização da empresa no mercado. Entretanto, a relação entre desempenho socioambiental e desempenho financeiro é bastante complexa. Nesse contexto, o objetivo deste estudo é verificar se a inclusão de uma empresa na listagem do DJSI, o que pressupõe alta performance socioambiental, proporciona maior retorno financeiro para ela. O estudo de evento é utilizado como metodologia para investigar a existência de retornos anormais quando a informação sobre a inclusão da empresa na listagem é divulgada, analisando-se a hipótese de que o mercado tem expectativas positivas quanto à participação no DJSI. Participaram do estudo 123 empresas que constam na listagem do DJSI, edição 2013/2014, e comercializam suas ações na Bolsa de Valores de Nova York. Os resultados alcançados apontam para um efeito nulo, não se confirmando a hipótese de maior retorno devido à inclusão no DJSI, mas também não indicando uma redução no desempenho financeiro associada a esse fato.

Palavras-chave: DJSI; Sustentabilidade corporativa; Desempenho financeiro.

1 Introduction

Managing a company in a global turbulent scenario in which all of them are equal in various production aspects requires a policymaking and adopting strategies that can result in other factors unrelated to the product and its price, showing a potential for differentiation and competitive advantage (Porter,

Received July 06, 2017 - Accepted Feb. 23, 2018

Financial support: Coordenação de Aperfeiçoamento de Pessoal de Nível Superior (CAPES).

¹ Universidade de São Paulo – USP, Av. Bandeirantes, 3900, Monte Alegre, CEP 14040-905, Ribeirão Preto, SP, Brasil, e-mail: anapaulapzago@gmail.com

² Universidade Federal de Goiás – UFG, Av. Dr. Lamartine Pinto de Avelar, 1120, St. Universitario, CEP 75704-020, Catalão, GO, Brasil, e-mail: nadiacpereira@yahoo.com.br

³ Faculdade de Economia, Administração e Contabilidade – FEA, Universidade de São Paulo – USP, Av. Bandeirantes, 3900, Monte Alegre, CEP 14040-905, Ribeirão Preto, SP, Brasil, e-mail: prof.charbel@gmail.com

⁴ Faculdade de Engenharia de Bauru, Universidade Estadual Paulista – UNESP, Av. Eng. Luís Edmundo Carrijo Coube, 1401, Vargem Limpa, CEP 17033-360, Bauru, SP, Brasil

⁵ Centro de Integração do Mercosul, Universidade Federal de Pelotas – UFPEL, Rua Andrade Neves, 1529, Centro, CEP 96020-080, Pelotas, RS, Brasil

1991). Changing demands new cost and benefits measurement in investments that involve other non-economic and intangible gains and long-term benefits (Toffler, 1995; Roy et al., 2001; Goyal et al., 2013; Hsu et al., 2016).

In this context, long-term sustainability and perpetuity of enterprises became targets in the same order of importance than the short-term profit. Collins & Porras (1995) affirm that companies "built to last" keep values and ideologies that privilege being reasons other than economic results and they have more profits than others. In order to understand this approach named corporate sustainability, it is necessary to know in advance the sustainable development concept. The concept of Corporate Sustainability presupposes that the company grow, be profitable and generate economic results, but also contributes to the development of society and to the preservation of the planet.

However, studies are controversial and opinions about the relationship between sustainable investments and economic results are not consensual. When researching the literature, one would identify positive, negative or even null results. Klassen & McLaughlin (1996), Sharma & Vredenburg (1998), Edwards (1998), Karagozoglu & Lindell (2000), Alvarez-Gil et al. (2001), Ann et al. (2006), Montabon et al. (2007), Wahba (2008), Galdeano-Gómez et al. (2008), Llach et al. (2013), Leonidou et al. (2013), and Pereira Moliner et al. (2015) have identified positive relationship between environmental management practices and financial performance. Nonetheless, Cañón & Garcés (2006) identified a negative relationship between sustainable practices and financial performance for smaller companies. Khanna & Damon (1999) identified a negative relationship between rentability and environmental management practices on short term, as opposed to a positive relationship on long term. González-Benito & González-Benito (2005) have found that environmental management can bring competitive opportunities for companies, although some environmental practices may produce negative effects. Menguc & Ozanne (2005) identifies a positive relationship between environmental practices and profit after taxes and marketshare, but a negative relationship for sales increase. Studies of Gilley et al. (2000), Watson et al. (2004), Zhu et al. (2007) have found null effects for the relationship between environmental actions and financial performance, while Zhu et al. (2013) only identified indirect effects.

However, those who argue that companies take their environmental responsibility now can celebrate some practical results). An example is Dow Jones Sustainability Index (DJSI), created in 1999 by the Swiss Dow Jones and the Sustainable Asset Management (SAM) company, which is a financial resources manager specialized in enterprises with social and environmental responsibility. It was the first sustainability index and it is considered the main tool for choosing the stocks of social and environmental responsibility companies (Kraemer, 2003; Fowler & Hope, 2007).

The *DJSI* measures the performance of the world leaders in sustainability through economic, environmental, and social criteria by using a "best-in-class" approach in order to select sustainability leaders. In other words, only the most sustainable companies, in industries that fualfill minimum sustainability requirements, are selected to the index DJSI.

Although sustainability indexes do not replace official policies related to social and environmental aspects, they are valuable to investors who are concerned to allocate their resources ethically. They help placing corporate responsibility and sustainability at the center of concerns in a growing number of companies (Makipere & Yip, 2008; Robinson et al., 2011).

In a general way, sustainability indexes as well as other corporate governance ones aim to provide greater transparence to capital market and thus attract more investors, increasing the traded stock volume, particularly to firms that adapt themselves to the new rules. We hope that the enterprises that adhere to these new DSJI demands or criteria have better prices for their stocks and, as a consequence, higher return on equity and, in the long term, lower capital costs.

Procianoy & Verdi (2009) believe the participation of companies in special segments is motivated by the need of investments and growth, trading in other markets, capital structure, and ownership concentration. They claim that participation of companies in these segments is rewarded with higher levels of liquidity, that is, a larger volume of trading of its shares and debt securities.

The lack of consensus about the correlation between environmental and financial performance, and the previously described scenario along with the assumption that the inclusion of a company in the DJSI may be understood as a measure of superior environmental capacity and, due to its reflection to the company's image, lead to financial performance improvement, motivated the formulation of the theme on the influence of environmental sustainability on business success and competitiveness. So that, we aimed to answer the question: *Does being part of DSJI generate return to the company?*

We aim to answer this question by analyzing companies that were included in DSJI. Two variables were analyzed concerning the impact of adopting DSJI on the company value in market: volume and price of traded shares. Two hypothesis were considered: Hypothesis 1 - The price of share traded has significantly undergone positive changes after disclosure of the DJSI list; Hypothesis 2 - The share traded volume has significantly undergone positive changes after disclosure of the DJSI list.

This study aims to verify, by an event study, whether including a firm in DSJI brings economic benefits reflected on the price and the volume of share traded in Stock Exchange, thus accomplishing the investor expectations.

This research presents contribution to the literature. First, it represents an attempt to test the market reaction to a measure integrated to sustainability in a worldwide scenario. The DJSI rates a wide range of corporative sustainable practices, not restricted to single aspect of sustainability, such as corporate governance or economic and environmental policies. Second, it examines the international variation in market performance appraisal of the company in relation to sustainability. More than worrying with social and environmental issues, companies are glimpsing long term, seeking for competitive beneffits acquired from managing environmental risks. The adherence to the principles of corporate sustainability, from which a company should mature, be rentable, generate economic results, and at the same time contribute for the development of society and the preservation of the planet (Elkington, 2001), is a way for companies to see changes beforehand and earn superior status when compared to other companies.

The study is structured as follows. The next section provides a review of literature about corporate sustainability, while section 3 debates the contribution of the literature about environmental and financial performance. Section 4 presents the methodological aspects of the research, including the universe, sample, gathering and processing of data. In section 5, the research results are described and, in section 6, they are stated as final considerations of the work.

2 Corporate sustainability

World movement towards rescuing values such as ethic, solidarity and trust leaded some Non Governmental Organizations, the civil society, the investors, financiers, insurance companies and the press to intervene in the company traditional structure and to require them to take into account the impact of their activities throughout their surroundings (González-Benito & González-Benito, 2006; Hofmann et al., 2012).

On one hand, communities, governments, NGO, insurance companies and investors demand clean processes and, on the other hand, more conscientious costumers select products and/or processes that generate

low negative impacts to the society. Nevertheless, environmental conditions result in pressure over every operation and product, establishing conflicts between distinct visions and values: short versus long term; shareholders versus stakeholders; profit maximization versus corporate name; competition versus cooperation; reactive versus proactive; economic sustainability versus environmental sustainability.

In recent decades, many authors have analyzed changes of posture in business regarding environmental and social matters (Luchs et al., 2010; Tomas & Hult, 2011; Kotler, 2011; Lannelongue & González-Benito, 2012; Leonidou et al., 2013). According with these authors, in a general way, business posture undergoes a reactive stage, which solely aims obedience to legal demands, then, through a proactive stage, in which perspectives go beyond legal conformity, and, finally, through a stage of proactive, anticipative, innovative, and leadership character.

Once the last stage is achieved, the company is supposed to grow, be rentable, and generate economic results, but also contribute to the advancement of society and the preservation of the planet. It is the concept of Triple Bottom Line, developed by Elkington (2001). The theory of the three pillars defines that society depends on the economy and the economy depends on the economy and the represents the ultimate pillar, the three of which can be represented by overlapping plates, interfering to one another. Faced with this vision, a company can be considered sustainable if it manages and gets good results on economic, environmental, and social areas altogether.

There are several definitions regarding sustainability and sustainable development in the literature. In fact, sustainability is a relatively new concept, having a multidisciplinary character and involving different interpretations that reflect differences of value, localized circumstances and contexts. Furthermore, the concept is eventually incorporated in several issues, such as definition of government policies, regional public administration, business management, and even personal life style (Pedroso & Zwicker, 2007).

In academic debates and business environments, hundreds of concepts and definitions have been proposed, referring to a more humane, more ethical and more transparent way of doing business (Zamcopé et al., 2012). According to the author, the concept of corporate sustainability encompasses the meeting of the needs of stakeholders directly or indirectly, without compromising its ability to meet the needs of future stakeholders. He argues that corporate sustainability and corporate social responsibility concepts can often be fused. Corporate social responsibility, according to Carroll (1979), is usually performed seeking to improve

an important society, community or non-governmental and nonprofits organizations relation aspect. Thus, corporate sustainability is considered the ultimate goal while corporate social responsibility is an intermediate stage in which firms try to balance the triple bottom line of economic responsibility, social responsibility and environmental responsibility. Corporate social responsibility is related to transparency phenomena, dialogue with stakeholders and sustainability reports, while corporate sustainability focuses on value creation, environmental management, cleaner production systems, and human capital management (Zamcopé et al., 2012).

3 Environmental and financial performance

According to Porter & Linde (1995), the environmental issue may be seen on different perspectives. Under the orthodox economy point of view, preservation and rational use of natural resources counteracts to the economic development and profitability of the company, once environmental protection generates costs and affects competitiveness. The second point of view states that environmental protection is good for business, and the third believes renouncing to protect the environment generates costs.

The debate, meaning to compare profitability and environmental responsibility, gave birth to several studies that seek to verify if environmentally responsible companies are more profitable as well. Measuring the environmental performance of companies has revealed to be a great challenge for academic research due to complexity and conceptual imprecision. Despite that, empiric studies that relate environmental and financial corporate performance have been constantly evolving. The great majority of studies intended to test the correlation between corporate social and financial performances, identifying positive, negative or null interaction (Molina-Azorín et al., 2009).

Horváthová (2010), through a meta-analysis, discovered that roughly 15% of studies find negative effect of environmental performance over financial performance; nearly 30% do not find any effect, and approximately 55% of studies find positive effect. The author, however, states that the method used on researches may interfere with its results. Thus, it was observed that: (1) the probability of finding a negative connection between environmental and financial performance significantly increases when simple correlation coefficients are used instead of more advanced econometric analysis; (2) portfolio studies tend to report negative connection between environmental and financial performance; (3) positive

relation is more frequently found on countries of common rights as opposed to countries of civil rights; (4) right riming is important in order to establish positive relation between environmental and financial performance. Besides, in order to accurately identify the effect of environmental performance over financial performance, the measure used for the first variable is of crucial importance (Horváthová, 2012).

Wood & Jones (1995) mention the event studies as a logical fashion to verify the impact of environmental performance over financial performance, through returns from stock market. Through the same path, Frooman (1997), by analyzing 27 event studies, verified that irresponsible or illegal social behavior results on the decrease shareholders' wealth.

Chart 1 synthesizes some of the empirical studies that address variables in question during the last decade.

Researches stated above present contradictory results, diverging through positive, negative, and, in some cases, null connections. Conflict between corporate profit maximization and the search for other goals still persists, despite over three decades of study, and there is no consensus on the matter (Horváthová, 2012).

Other than the lack of consensus about whether or not to create value for the company through responsible environmental actions, there is also the analysis associated to short and long term. Horváthová (2012), by examining time effects of environmental performance on financial performance, suggests that improvements of environmental performances are associated to additional costs for companies on short term (more specifically, with a one-year gap) and exhibits positive effect over financial performance on long term (two-year gap). Hart & Ahuja (1996), Molloy et al. (2002), and Khanna & Damon (1999) have no identified positive relationship between profitability and environmental management practices on short term either, however this relationship was positive on long term. Molloy et al. (2002) concludes that on short term investors apprehend environmental improvements as expensive, unless investments are made in response to environmental regulations and to avoid penalties. Rassier & Earnhart (2011) conclude that lower emission of pollutants improve financial performance, both on short and long term, with stronger effect on long term.

Considering the temporal aspect, Elkington (2001) believes proactive companies glimpse long term and seek for competitive benefits coming from managing environmental issues, anticipating transformation and differentiating from other companies.

STUDY	VARIABLES OF ENVIRONMENTAL PERFORMANCE	MAIN ANALYSIS	MAIN RESULTS
Link & Naveh (2006)	Emissions, use of recycled materials and other environmental aspects	Regression analysis	The greater the standardization in managing organization environmental issues – ISO 14001 – the greater to environmental performance Environmental performance does not influence business performance
Aragón-Correa & Rubio-López (2007)	Emissions of organic carbon	Correlation analysis	Environmental progress is not related to financial performance
Nakao et al. (2007)	Environmental management performance index (Nikkei Environmental Management Survey)	Regression analysis	Environmental performance of a company has positive impact over its financial performance and vice-versa
Yang et al. (2011)	Environmental Performance (measures of perception – improvement over the past three years and in comparison to its competitors)	Modeling of structural equations	Lean production is positively related to environmental management practices, which are negatively related to the market and to financial performance Better environmental performance substantially reduces negative impact of environmental management practices to the marketplace and to financial performance
Iwata & Okada (2011)	Waste issue and greenhouse gas emissions	Panel analysis	Emission of residues, in general, has no meaningful effects on financial performance The reduction of greenhouse gases results on significant increase of financial performance in unclean industries
Horváthová (2012)	93 air, water, and soil pollutants	Econometric analysis	The effect of environmental performance over financial performance is negative for the first one-year lag but becomes positive after 2 years

Chart 1. Studies that relate environmental performance to financial performance.

4 Methodology

According to Marconi & Lakatos (2003), this research may be characterized as a quantitative and descriptive one. In order to analyse the price of shares and traded volume, a traditional study of event methodology is applied.

The study of event is used to identify whether there are or not significant alterations in price and volume of traded shares when the information on the inclusion in DSJI is disclosed, analyzing the hypothesis that market has positive expectations on investing in environmental questions.

Hamilton (1995) points that the event study in stock market supposes implicitly that this market operates effectively in order to reflect the expectations of current information. It assumes the hypothesis that a particular fact or event affects the company value and this value change is shown by an abnormal return in company stock.

MacKinlay (1997) affirms that the abnormal return is the difference between the observed and the normal

return, defined as the expected one by means of some asset-pricing model.

There is a considerable number of approaches to calculate the abnormal return of a given asset, but the models may be grouped into two categories: the economical and the statistical ones MacKinlay (1997). Concerning to the statistical models, the abnormal return calculation may be approached in three basic ways: the average adjusted return, the market adjusted income and, finally, the risk and market adjusted one, which is used in this study.

The risk and market adjusted return assumes that abnormal stock incomes are observed by the divergence among the individual effectively occurred results related to the market portfolio which is calculated using a simple factor model. This model is estimated by estimation window data and a linear regression using ordinary least squares, according to Equation 1:

$$ARi,t = Ri,t - \alpha i - \beta iRMi$$
 (1)

where: ARi,t = abnormal return of i stock in t period; Ri,t = rate of return observed for the i active in t period; Rmi = rate of the expected return of the market portfolio in t period; α i and β i are the estimated coefficients for the period by the Ordinary Least Squares – OLS, i.e., the parameters of linear regression involving the stock returns and market one.

Daily returns are obtained using daily closing prices of the stocks in the sample, calculated by Equation 2:

$$Rit = ln(Pit) - ln(Pit-1)$$
 (2)

where: Rit = return of stock 1 on t date; Pit = stock 1 closing price on t date.

Despite the abnormal returns calculation form, we estimate the abnormal average incomes that must be added to the time, using the CAR (*Cumulative Average Abnormal Return*) technique. According to Brown & Warner (1980, p. 227), CAR is a method often used to investigate abnormal performance, when the information on when the event occurred is incomplete.

As stated by MacKinlay (1997), CAR has Student t-distribution and, for big estimation windows, CAR distribution may be approximated satisfactorily by normal distribution. Thus *t*-CAR obtained values may be compared to the critical ones of Student *t*-distribution.

Marcon (2002) states that the steps to be followed in conducting an event study are the following ones: event definition, period definition (also known as interest window), determining selection criterion to include a given company in the study either by data availability, either by specific characteristics, and abnormal return calculation. Such steps are addressed in the next section.

4.1 Universe, sample, data collection

The first step in an event study is to define the interest event. In this case, inclusion in the DSJI list. From this event, this study population was selected based on 2013-2014 Dow Jones Sustainability Index – DJSI list. In this edition, 333 companies from 25 countries compose the Index.

The DJSI was the first global index for monitoring financial performance of companies oriented to worldwide sustainability. Dow Jones Indexes and Sustainable Asset Management (SAM) launched the indexes in 1999. The DJSI measures the performance of world leaders in sustainability in terms of economic, environmental, and social criteria, providing objective benchmark to investors for management of sustainability investment portfolios. The DJSI handles a "best-in-class" approach to select leaders in sustainability, meaning only the more sustainable companies, in industries that fulfill minimum sustainable requirements, are selected are selected to the index. Parameters of reference DJSI are made of three geographic aggregates: DJSI World,

DJSI Regions, and DJSI Countries. The DJSI World is specifically used in this study.

The key factor for selecting companies that make up the DJSI is the Total Sustainability Score (TSS) index, which represents the total score of the company, figured according to the RobecoSAM's annual Corporate Sustainability Assessment (CSA) evaluation. The first step in the process of CSA is the definition of companies that ought to be invited to participate the selection, denominated the Invited Universe. The Invited Universe varies between different subfamilies of the DJSI (DJSI World, DJSI Emerging Markets, etc.). Companies in each Invited Universe are requested to answer an extensive questionnaire specific to each sector. The CSA invitations are sent every march of the year and the listing is disclosed September of the same year.

Not all companies of an Invited Universe choose to answer the questionnaire. When companies refuse to do so but still fulfill certain size criteria, RobecoSAM completes questionnaire, as well as possible, based on publicly available information to ensure that minimum representativeness requirements are met. In the 2013-2014 DJSI listing, from the 2.500 companies that composed the Invited Universe, 1.831 companies were analyzed; 818 companies answered the questionnaire; 1.013 companies had their evaluation completed based exclusively on public information; and 333 companies from 25 countries were selected to make up the index. That is, there is no publicly sent invitation and only 12,52% of the invited companies were included in the final DJSI World listing that year, which demonstrates the absence of a possible effect of anticipating the market. Besides that, only the first year in which companies were included in the DJSI listing is object of this study, allowing the elimination of the anticipation-of-the-market effect concerning expectation of permanence of the company in the index. In order to eliminate the anticipation effect only the first inclusion year of the company was analyzed, not its continuity.

The second step to an event study, according to Marcon (2002), is to define the period when stock prices and volume will be analyzed. We sought the dates when the DSJI list was disclosed from 1999 to 2013. This data was considered the starting point of the event study.

We collected data referring to the variables to be analyzed in two moments: one period prior the company classification by the DJSI and one period after this event (60 daily quotations before and 30 ones after that event). The period corresponds to about two months before and one month after the indication to DJSI, because the quotations occur only in business days. We understand that using too long

lead could affect the analysis, because the longer the duration the greater the influence of other variables and greater the difficulty to isolate the event and its reflections on stock price and volume traded by the companies in that period.

Once defined the period for data collection, we established the estimation window (period used to estimate parameters for the employed models) and the event window (period for testing the event). In this study, the estimation window was formed by 55 daily observations in the quotations, the trades volume or stock return and the event window was defined in 5 observations before and 30 after the event date.

Marcon (2002) points out that the third step in an event study is to determine the sample. We adopted Dow Jones (DJ) as the unique index for estimating the market portfolio return calculated by New York Stock Exchange (NYSE), in order to calculate the expected stock returns. So that, among the 333 observations in the search universe, we selected those that belonged to companies that had stocks traded on NYSE.

We collected data (closing stock prices and trading volumes) in Yahoo Finance (2006) website. It was not possible to collect data from six companies (they had histories with dates later than their DJSI). Therefore, the non-random sample is made of 123 observations.

4.2 Data treatment

The fourth step in an event study, according to Marcon (2002), is to calculate abnormal returns. For calculating stock daily returns we used the continuous compounding system, extracting the difference between the natural logarithm (nl) from Pi(t) and from Pi(t-1) (Equation 2). We did the same to calculate the daily returns from DJ Index. We extracted the difference between the natural logarithm (nl) from DJ*t* and from DJ(t-1) (DJT is equal to the index points in DJ on *t* date). The stock expected returns were calculated following the statistical model proposed by MacKinlay (1997) (Equation 1). Thus, we estimated the model parameters using simple linear regression based on a 55-dayestimation window.

For the regressions, we kept the prices the day before the sessions when there was no negotiation. We used the DJ Index (price index from NYSE) as a return estimation of the market portfolio return. The estimation window was a parameter for comparing the returns before and after the event window as well as the returns in the event window. We obtained abnormal return by the difference between the observed returns in the enterprise, in the event window and the expected ones. From the abnormal returns of each stock, we calculated the average and its standard deviation.

Moreover, we used CAR technique - *Cumulative Average Abnormal Return*.

Since the aim of the investigation is to compare two periods, one before and another after DJSI implementation, and since the two samples were collected in the same group of firms, we have to choose a test that consists to this goal. So that, in order to determine the statistical significance of AR and CAR results, each day, following the procedure described and used by Brown & Warner (1980, p. 7-8) and Docking & Dowen (1999, p. 154-155), we used Student *t* test. The null hypothesis in this test considers that average abnormal return in a given period is not different from zero. We reject this null hypothesis if *t* is greater that the critical value at the desired significance level, in module.

5 Results

Table 1 presents the results we got in an aggregate way in the event study. This Table shows the following structure: the first column corresponds to the event window period (from -5 to +30); the three further columns show the daily average abnormal return (AR), the average standard deviation, and the t-Student statistic, respectively; the three last columns have the same structure, but they show daily cumulative data (CAR – Cumulative Abnormal Return).

Results presented on Table 1 show a negative average abnormal return on 17 from the 35 days observed in the event window. CAR showed a negative cumulative result of (0.2196%) (see the last cell in the fourth column). This result indicates that, on average, the companies listed in DJSI presented results below the expected ones in the analyzed period. However, concerning to statistical significance of these results, the coefficients were not significant to the 10% level (in module, all the results of t Student test are lower than 1.645). Thus, according to t Student test, we accepted the null hypothesis that the average abnormal return in this period is not different from zero. So that, the statistical results do not confirm the hypothesis that the market reacts positively to the news of a company entering the DSJI group. In this case, the positive results may be caused by factors other than the disclosure of the DJSI list. The negative results, in this manner, can be motivated by factors other than the disclosure of the DJSI list. Another aspect that reinforces to strengthening the non-existence of positive impact on stock prices as the announcement of the DJSI is the average negative abnormal return of 0.2259% observed on the day of the event (D₀).

In our sample we identified companies that belonged to twenty-two economy sectors according to DJSI classification. Table 2 summarizes the event study results when we considered the activity sectors.

Table 1. Event study aggregate results (Abnormal Return).

Days	AR* Average	Standard Deviation AR*	tAR*	CAR** Average	CAR** Deviation	t CAR**
-5	-0.3120%	2.1280%	-0.1466	-0.3120%	2.1280%	-0.1466
-4	0.1138%	1.8447%	0.0617	-0.1982%	3.9727%	-0.0499
-3	-0.1798%	1.9308%	-0.0931	-0.3781%	5.9035%	-0.0640
-2	0.1543%	1.8246%	0.0846	-0.2238%	7.7281%	-0.0290
-1	0.4173%	2.0941%	0.1993	0.1935%	9.8222%	0.0197
0	-0.2259%	1.8324%	-0.1233	-0.0324%	11.6546%	-0.0028
1	0.1275%	1.8630%	0.0684	0.0951%	13.5176%	0.0070
2	-0.0648%	2.0515%	-0.0316	0.0303%	15.5690%	0.0019
3	-0.2459%	2.2292%	-0.1103	-0.2156%	17.7983%	-0.0121
4	0.1570%	2.0494%	0.0766	-0.0586%	19.8476%	-0.0030
5	0.0918%	2.2846%	0.0402	0.0332%	22.1322%	0.0015
6	-0.2330%	1.7669%	-0.1319	-0.1998%	23.8991%	-0.0084
7	-0.0036%	1.7540%	-0.0021	-0.2034%	25.6532%	-0.0079
8	-0.0667%	2.6880%	-0.0248	-0.2701%	28.3412%	-0.0095
9	0.1227%	2.4789%	0.0495	-0.1474%	30.8201%	-0.0048
10	-0.1284%	1.9976%	-0.0643	-0.2758%	32.8177%	-0.0084
11	-0.2517%	4.4299%	-0.0568	-0.5275%	37.2477%	-0.0142
12	0.0260%	2.3819%	0.0109	-0.5015%	39.6296%	-0.0127
13	0.3212%	1.9075%	0.1684	-0.1803%	41.5370%	-0.0043
14	-0.0561%	2.5373%	-0.0221	-0.2364%	44.0743%	-0.0054
15	0.4453%	1.7916%	0.2485	0.2089%	45.8660%	0.0046
16	-0.0891%	2.7083%	-0.0329	0.1198%	48.5742%	0.0025
17	0.1272%	2.1624%	0.0588	0.2470%	50.7366%	0.0049
18	-0.1587%	1.9977%	-0.0794	0.0883%	52.7343%	0.0017
19	0.0920%	2.2276%	0.0413	0.1803%	54.9619%	0.0033
20	0.0127%	2.2957%	0.0055	0.1931%	57.2576%	0.0034
21	-0.4429%	2.5088%	-0.1765	-0.2498%	59.7665%	-0.0042
22	-0.3722%	2.6548%	-0.1402	-0.6220%	62.4213%	-0.0100
23	0.1717%	1.8857%	0.0911	-0.4503%	64.3069%	-0.0070
24	-0.0372%	1.9422%	-0.0192	-0.4876%	66.2491%	-0.0074
25	0.2070%	2.6190%	0.0791	-0.2805%	68.8681%	-0.0041
26	0.1057%	2.2968%	0.0460	-0.1748%	71.1649%	-0.0025
27	0.0577%	2.3078%	0.0250	-0.1172%	73.4727%	-0.0016
28	-0.0400%	1.9726%	-0.0203	-0.1572%	75.4453%	-0.0021
29	-0.0624%	2.1741%	-0.0287	-0.2196%	77.6194%	-0.0028

^{*}AR = Abnormal Return; **CAR = Cumulate Average Return.

In spite of a greater number of abnormal positive returns (12), concerning to the abnormal negative ones (10), t Student test results, in the sector analysis, also showed no significant results at 10% level, indicating that the average abnormal return of all the sectors is statistically equal to zero. Nevertheless, by means of CAR we could verify that the sector showed different results in the analyzed period. While the sector of services to the consumer had a positive cumulative average abnormal return of 63.2682%, the real state sector had a negative average cumulative abnormal return of -18.5235%. However, it is important to highlight that these sectors are composed of one

company only, which prevents the generalization of this data.

The sample is also divided in six geographic regions. Table 3 presents the event study results when considering these regions.

The results show that there is equilibrium between the positive and negative results when considering geographic area, which in itself already indicates the lack of a correlation between the analyzed event and the company results. The *t* statistic confirms this fact and shows no statistical significance at 10% level for average abnormal returns.

Another aspect to be taken in account is the year when the companies took part of DJSI list. We used

Table 2. Summary of the event study by activity sector.

Activity Sector	Samples	AR* Average	Number of Positive <i>AR</i> *	Number of Negative AR*	CAR** Average	t
Automobiles and	01	0.1662%	19	16	5.8175%	-
Components						
Banks	10	0.0544%	17	18	1.9030%	<vc< td=""></vc<>
Capital Goods	10	0.0411%	18	17	1.4381%	<vc< td=""></vc<>
Commercial and Professional Services	01	-0.4496%	15	20	-15.7377%	-
Durable Goods and Clothing	01	-0.0863%	14	21	-3.0188%	-
Services to the Consumer	01	1.8077%	29	06	63.2682%	-
Financial Services	08	-0.0255%	17	18	-0.8922%	<vc< td=""></vc<>
Energy	13	-0.2745%	12	23	-9.6086%	<vc< td=""></vc<>
Food. Beverages. and Tobacco	06	-0.1330%	11	24	-4.6542%	<vc< td=""></vc<>
Equipment and Services for healthcare	08	-0.0385%	16	19	-1.3480%	<vc< td=""></vc<>
Insurance	02	0.3022%	19	16	10.5757%	<vc< td=""></vc<>
Materials	19	-0.1053%	16	19	-3.6870%	<vc< td=""></vc<>
Average	02	0.0431%	16	19	1.5079%	<vc< td=""></vc<>
Pharmaceuticals. Biothecnology. and Life Sciences	07	0.0443%	16	19	1.5491%	<vc< td=""></vc<>
Real State	01	0.5292%	17	18	18.5235%	_
Retail Sector	04	-0.0688%	16	19	-2.4090%	<vc< td=""></vc<>
Semiconductors and Semiconductor Equipment	02	0.1993%	19	16	6.9767%	<vc< td=""></vc<>
Software and Services	03	-0.0541%	19	16	-1.8951%	<vc< td=""></vc<>
Hardware Technology and Equipment	06	0.1216%	20	15	4.2570%	<vc< td=""></vc<>
Telecommunication Services	09	0.2483%	21	14	8.6919%	<vc< td=""></vc<>
Transportation	04	-0.3081%	10	25	-10.7822%	<vc< td=""></vc<>
Utilities	05	0.0986%	16	19	3.4504%	<vc< td=""></vc<>

^{*}AR = Abnormal Return; **CAR = Cumulate Average Return.

Table 3. Event study result summary by geographic region.

Area	Samples	AR* Average	Number of Positive AR*	Number of Negative AR*	CAR** Average	t-test
Africa	02	-0.1578%	15	20	-5.5244%	< VC
North America	55	-0.0443%	17	18	-1.5494%	< VC
South America	07	0.0358%	17	18	1.2890%	< VC
Asia	10	-0.0137%	15	20	-0.4811%	< VC
Europe	45	0.0239%	21	14	0.8357%	< VC
Oceania	04	0.1960%	17	18	6.8593%	< VC

^{*}AR = Abnormal Return; **CAR = Cumulate Average Return.

the same procedures of the previous analysis and we got no different results: on some of the years the positive results prevailed, while in others the negative ones did. In zero date (D0) we observed both positive and negative results and this demonstrated no correlation between participating in DJSI list and financial performance. The *t* test showed values lower

than the 10% critical ones for the sample size, which confirms the null effect.

Average year CAR reinforces the results acquired by sector and by geographic area and indicates that there are other variables that affect the company results.

As in the stock prices analysis, we based the Student *t* test on the second hypothesis of this study: "The traded stock volume suffered significant

changes after disclosure of the DJSI list". The results indicate that there were no statistically significant changes in abnormal traded volume. Table 4 presents results concerning abnormal volume and abnormal accumulated volume.

The analysis of volume variable only reinforces the previous results to price variable. Although the observed average traded volumes showed positive results related to the expected ones on twenty-two of the thirty-five event window, reaching a positive accumulated volume of more than 2 million, the results have no statistically significance to prove changes in investor behavior arising from the disclosure of companies entering the DJSI list.

As in the studies carried out by Iwata & Okada (2011), Aragón-Correa & Rubio-López (2007), and Link & Naveh (2006), the analysis points a probable lack of correlation, or null correlation between participating in DJSI group of companies, regarded here as an indication of better environmental performance, and financial performance. An aspect to highlight is that this null correlation weakens the argument that a better social corporate performance would entail worse financial performance of stocks traded by them, given the excessive resource expenditure on activities unrelated to the business (Friedman, 1970; Frooman, 1997).

Table 4. Event study aggregated results by Abnormal Value.

Days	AV* Average	Standart Deviation AV*	t AV*	CAV** Average	CAV** Deviation	t CAV**
-5	-165,648	1,928,502	-0.0859	-165,648	1,928,502	-0.0859
-3 -4						
	77,476	1,363,369	0.0568	-88,172	3,291,871	-0.0268
-3	260,942	2,437,032	0.1071	172,771	5,728,903	0.0302
-2	381,231	2,707,164	0.1408	554,002	8,436,068	0.0657
-1	-687,014	4,360,417	-0.1576	-133,012	12,796,484	-0.0104
0	68,965	1,753,086	0.0393	-64,048	14,549,571	-0.0044
1	268,746	2,466,663	0.1090	204,699	17,016,233	0.0120
2	141,629	2,797,282	0.0506	346,327	19,813,516	0.0175
3	62,557	1,824,154	0.0343	408,884	21,637,670	0.0189
4	2,219	1,499,958	0.0015	411,103	23,137,628	0.0178
5	300,732	3,230,218	0.0931	711,835	26,367,847	0.0270
6	268,247	2,362,920	0.1135	980,082	28,730,766	0.0341
7	136,816	2,055,011	0.0666	1,116,899	30,785,777	0.0363
8	15,271	2,393,209	0.0064	1,132,169	33,178,986	0.0341
9	26,375	2,352,836	0.0112	1,158,544	35,531,823	0.0326
10	-892,411	8,832,700	-0.1010	266,134	44,364,523	0.0060
11	270,844	2,639,603	0.1026	536,977	47,004,126	0.0114
12	712,550	6,641,050	0.1073	1,249,527	53,645,176	0.0233
13	141,980	2,504,686	0.0567	1,391,506	56,149,862	0.0248
14	-246,594	1,622,681	-0.1520	1,144,912	57,772,543	0.0198
15	56,861	1,610,890	0.0353	1,201,773	59,383,433	0.0202
16	-53,890	2,974,318	-0.0181	1,147,883	62,357,750	0.0184
17	687,970	9,351,435	0.0736	1,835,853	71,709,185	0.0256
18	370,033	4,241,675	0.0872	2,205,885	75,950,860	0.0290
19	8,009	3,492,088	0.0023	2,213,894	79,442,948	0.0279
20	-130,763	2,532,842	-0.0516	2,083,132	81,975,790	0.0254
21	-114,677	1,876,530	-0.0611	1,968,455	83,852,320	0.0235
22	-109,681	2,250,724	-0.0487	1,858,773	86,103,044	0.0216
23	-21,134	2,512,536	-0.0084	1,837,640	88,615,580	0.0207
24	70,294	3,926,991	0.0179	1,907,933	92,542,570	0.0206
25	668,654	6,338,583	0.1055	2,576,587	98,881,154	0.0261
26	-112,747	1,096,331	-0.1028	2,463,840	99,977,485	0.0246
27	152,755	2,026,056	0.0754	2,616,595	102,003,541	0.0257
28	-89,029	1,171,375	-0.0760	2,527,566	103,174,916	0.0245
29	-12,279	2,700,730	-0.0045	2,515,287	105,875,646	0.0238

^{*}AV = Abnormal Volume ou Volume Anormal; **CAV = Cumulate Average Volume.

6 Conclusion

This study aimed to verify whether the inclusion of a company in the DJSI restrict group, which presupposes high environmental performance, would generate positive financial incomes, in order to contribute to studies that relate environmental and financial performance.

We observed that abnormal average stock returns and traded volume did not show statistically significant changes that could confirm the study hypothesis. When considering activity sectors and geographic areas as well the years when the companies entered DJSI list, the results were not different from the general ones. That is, there was no statistic indication that the disclosure of taking part in the DJSI list influences positively or negatively average investor behavior concerning to their shares in the market.

So that, we can affirm that the social and environmental information was not considered as relevant in the market and there was no positive or negative valuation of companies deemed environmentally and socially correct.

As in the studies carried out by Aragón-Correa & Rubio-López (2007) and Link & Naveh (2006), the results point to null correlation between environmental and financial performance. They seem to corroborate the findings of Cormier et al. (1993, p. 136). Although considering that many investor have ethical concerns and this is confirmed by their interest on information of by their investment goals, these authors point that empiric studies stated that events based on social information affects weakly affect the short term performance in the company's market.

This correlation does not satisfy those who believe in the new sustainability concept, whereby it is possible to invest in environmental and economic questions and get bigger financial results. Nevertheless, it weakens the argument that better corporate social performance would result in worse financial performance due to resource expenditure in environmental activities. So that, as in the study carried out by Cohen et al. (1997), the main result of this search is to verify that after being included in DJSI list, the companies had no significant losses and no lower performance than the other ones, assuming that they had to invest heavily in social and environmental areas.

This search suggests that it is possible to get the same gains by acting with social responsibility and without compromising the environment. Moreover, the investments made nowadays in social and environmental areas can be a future competitive advantage for the companies, as proposed by Elkington (2001) and Porter & Linde (1995).

We thus observed that the DJSI organizers' expectations concerning to the evaluated variables in the

selected period were not accomplished. This indicates that the investors need stronger indicatives on the importance of including a company in DJSI list. However, we cannot forget the search limitations including several factors that can affect the stock price and the period of analysis.

It is important to highlight that the correlation between environmental and financial performance is quite complex and this study, as many others, does not exhaust the subject. The results only reveal that the disclosure of a company participation in DJSI does not result in immediate positive reaction in the stock market. From these results we cannot affirm that investing in environmental development does not imply higher long-term financial returns to the company.

We conclude that social and environmental aspects are compatible to competitiveness and profitability. This makes possible, even if the long term, the scope of sustainable development that integrates and respects the needs and limits of human nature.

6.1 Research limitations

Reverse fluke is one of the problems found on studies that relate environmental and financial performance. While corporate financial performance may be consequence of environmental performance, the opposite might just as well occur. This limitation would entail confusion between cause and effect (Asti Vera, 1980, p. 141).

The hardness of elaborating a variable that represents corporate social performance and quantification of this variable are complications of this research genre as well, which harms the generalization of results that we sought to achieve. Other limitations include: the possibility of other events occurring in dates close to the disclosure of the DJSI list that might reinforce or mask the abnormal return and the existence of insiders who might tease significant changes on management and financial performance of companies beforehand.

Besides, the event study, methodology used in this research, does not allow analysis of effects caused the long-term participation of a company in the DJSI. On future studies, one might benefit from alternative methodologies that acknowledge such effects.

References

Álvarez Gil, M. J., Burgos Jiménez, J., & Céspedes Lorente, J. J. (2001). An analysis of environmental management, organizational context and performance of Spanish hotels. *Omega*, 29(6), 457-471. http://dx.doi. org/10.1016/S0305-0483(01)00033-0.

Ann, G. E., Zailani, S., & Abd Wahid, N. (2006). Study on the impact of environmental management system (EMS)

- certification towards firms' performance in Malaysia. *Management of Environmental Quality*, 17(1), 73-93. http://dx.doi.org/10.1108/14777830610639459.
- Aragón-Correa, J. A., & Rubio-López, E. (2007). Proactive corporate environmental strategies: myths and misunderstandings. *Long Range Planning*, 40(3), 357-384. http://dx.doi.org/10.1016/j.lrp.2007.02.008.
- Asti Vera, A. (1980). *Metodologia da pesquisa científica* (6. ed.). Porto Alegre: Globo.
- Brown, S. J., & Warner, J. B. (1980). Measuring security price performance. *Journal of Financial Economics*, 8(3), 205-258. http://dx.doi.org/10.1016/0304-405X(80)90002-1.
- Cañón, J., & Garcés, C. (2006). Repercusión económica de la certificación medioambiental ISO. Cuadernos de Gestión, 6(1), 45-62.
- Carroll, A. B. A. (1979). Three-dimensional conceptual model of corporate performance. *Academy of Management Review*, 4(4), 497-505. http://dx.doi.org/10.5465/amr.1979.4498296.
- Cohen, M. A., Fenn, S. A., & Konar, S. (1997). Environmental and financial performance: are they related? Nashville: Vanderbilt University. Working Paper. Recuperado em 15 de janeiro de 2006, de http://citeseerx.ist.psu.edu/viewdoc/download?doi=10.1.1.498.9820&rep=rep1 &type=pdf
- Collins, J. C. & Porras, J. I. (1995). Feitas para durar: práticas bem sucedidas de empresas visionárias. Rio de Janeiro: Rocco.
- Cormier, D., Magnan, M., & Morard, B. (1993). The impact of corporate pollution on marketvaluation: some empirical evidence. *Ecological Economics*, 8(2), 135-155. http://dx.doi.org/10.1016/0921-8009(93)90041-4.
- Docking, D. S., & Dowen, R. J. (1999). Market interpretation of ISO 9000 registration. *Journal of Financial Research*, 22(2), 147-160. http://dx.doi.org/10.1111/j.1475-6803.1999. tb00720.x.
- Edwards, D. (1998). *The link between company environmental and financial performance*. London: Earthscan Publications.
- Elkington, J. (2001). Canibais com garfo e faca. São Paulo: Makron.
- Fowler, S. J., & Hope, C. (2007). A critical review sustainable business indices and their impact. *Journal of Business Ethics*, 76(3), 243-252. http://dx.doi.org/10.1007/s10551-007-9590-2.
- Friedman, M. T. (1970). *The social responsibility of business is to increase its profits*. New York: The New York Times Magazine. Recuperado em 15 de janeiro de 2006, de http://link.springer.com/chapter/10.1007/978-3-540-70818-6_14
- Frooman, J. (1997). Socially irresponsible and illegal behavior and shareholder wealth: a meta-analysis of event studies. *Business & Society*, 36(3), 221-249. http://dx.doi.org/10.1177/000765039703600302.

- Galdeano-Gómez, E., Céspedes-Lorente, J., & Martínez-del-Río, J. (2008). Environmental performance and spillover effects on productivity: evidence from horticultural firms. *Journal of Environmental Management*, 88(4), 1552-1561. http://dx.doi.org/10.1016/j.jenvman.2007.07.028. PMid:17825476.
- Gilley, K. M., Worrell, D. L., Davidson, W. N., 3rd, & El-Jelly, A. (2000). Corporate environmental initiatives and anticipated firm performance: the differential effects of process-driven versus product-driven greening initiatives. *Journal of Management*, 26(6), 1199-1216. http://dx.doi. org/10.1177/014920630002600607.
- González-Benito, J., & González-Benito, O. (2005). Environmental proactivity and business performance: an empirical analysis. *International Journal of Management Sciences*, 33(1), 1-15.
- González-Benito, J., & González-Benito, O. (2006). A review of determinant factors of environmental proactivity. Business Strategy and the Environment, 15(2), 87-102. http://dx.doi.org/10.1002/bse.450.
- Goyal, P., Rahman, Z., & Kazmi, A. A. (2013). Corporate Sustainability performance and firm performance research: literature review and future research agenda. *Management Decision*, 51(2), 361-379. http://dx.doi. org/10.1108/00251741311301867.
- Hamilton, J. T. (1995). Pollution as news: media and stock market reactions to the toxics release inventory data. *Journal of Environmental Economics and Management*, 28(1), 98-113. http://dx.doi.org/10.1006/jeem.1995.1007.
- Hart, S. L., & Ahuja, G. (1996). Does it pay to be green? An empirical examination of the relationship between emission reduction and firm performance. *Business Strategy and the Environment*, 5(1), 30-37. http://dx.doi.org/10.1002/(SICI)1099-0836(199603)5:1<30::AID-BSE38>3.0.CO;2-Q.
- Hofmann, H. K., Theyel, G., & Wood, C. H. (2012). Identifying firm capabilities as drivers of environmental management and sustainability practices: evidence from small and medium-sized manufacturers. *Business Strategy and the Environment*, 21(8), 530-545. http://dx.doi.org/10.1002/bse.739.
- Horváthová, E. (2010). Does environmental performance affect financial performance? A meta-analysis. *Ecological Economics*, 70(1), 52-59. http://dx.doi.org/10.1016/j.ecolecon.2010.04.004.
- Horváthová, E. (2012). The impact of environmental performance on firm performance: short-term costs and long-term benefits? *Ecological Economics*, 84, 91-97. http://dx.doi.org/10.1016/j.ecolecon.2012.10.001.
- Hsu, C.-C., Tan, K.-C., & Mohamad Zailani, S. H. (2016). Strategic orientations sustainable supply chain initiatives, and reverse logistics: empirical evidence from an emerging market. *Journal of Operations & Production Management*, 36(1), 86-110. http://dx.doi.org/10.1108/ IJOPM-06-2014-0252.

- Iwata, H., & Okada, K. (2011). How does environmental performance affect financial performance? Evidence from Japanese manufacturing firms. *Ecological Economics*, 70(9), 691-700. http://dx.doi.org/10.1016/j. ecolecon.2011.05.010.
- Karagozoglu, N., & Lindell, M. (2000). Environmental management: testing the win-win model. *Journal of Environmental Planning and Management*, 43(6), 817-829. http://dx.doi.org/10.1080/09640560020001700.
- Khanna, M., & Damon, L. (1999). EPA's voluntary 33/50 program: impact on toxic releases and economic performance of firms. *Journal of Environmental Economics and Management*, 37(1), 1-25. http://dx.doi.org/10.1006/jeem.1998.1057.
- Klassen, R., & McLaughlin, C. (1996). The impact of environmental management on firm performance. *Management Science*, 42(8), 1199-1214. http://dx.doi.org/10.1287/mnsc.42.8.1199.
- Kotler, P. (2011). Reinventing marketing to manage the environmental imperative. *Journal of Marketing*, 75(4), 132-135. http://dx.doi.org/10.1509/jmkg.75.4.132.
- Kraemer, M. E. P. (2003). A contabilidade como alavanca do desenvolvimento sustentável. Curitiba: Universidade Pontual Soluções Educacionais. Recuperado em 15 de janeiro de 2006, de http://www.gestaoambiental.com. br/kraemer/php
- Lannelongue, G., & González-Benito, J. (2012). Opportunism and environmental management systems: certification as a smokescreen for stakeholders. *Ecological Economics*, 82, 11-22. http://dx.doi.org/10.1016/j.ecolecon.2012.08.003.
- Leonidou, L. C., Leonidou, C. N., Fotiadis, T. A., & Zeriti, A. (2013). Resources and capabilities as drivers of hotel environmental marketing strategy: implications for competitive advantage and performance. *Tourism Management*, 35, 94-110. http://dx.doi.org/10.1016/j. tourman.2012.06.003.
- Link, S., & Naveh, E. (2006). Standartization and discretion: does the environmental standard ISO 14001 lead to performance benefits? *IEEE Transactions on Engineering Management*, 53(4), 508-519. http://dx.doi.org/10.1109/ TEM.2006.883704.
- Llach, J., Perramon, J., Alonso-Almeida, M. M., & Bagur-Femenías, L. (2013). Joint impact of quality and environmental practices on firm performance in small service businesses: an empirical study of restaurants. *Journal of Cleaner Production*, 44, 96-104. http://dx.doi.org/10.1016/j.jclepro.2012.10.046.
- Luchs, M. G., Naylor, R. W., Irwin, J. R., & Raghunathan, R. (2010). The sustainability liability: potential negative effects of ethicality on product preference. *Journal of Marketing*, 74(5), 18-31. http://dx.doi.org/10.1509/jmkg.74.5.18.
- MacKinlay, A. C. (1997). Event studies in economics and finance. *Journal of Economic Literature*, 35(1), 13-39.

- Recuperado em 15 de janeiro de 2006, de http://www.jstor.org/stable/2729691
- Makipere, K., & Yip, G. (2008). Sustainable leardship. *Business Strategy Review*, 19(1), 64-67. http://dx.doi. org/10.1111/j.1467-8616.2008.00521.x.
- Marcon, R. (2002). O custo de capital próprio das empresas brasileiras: o caso dos American Depositary Receipts (ADRs) (Tese de doutorado). Universidade Federal de Santa Catarina, Florianópolis.
- Marconi, M. A., & Lakatos, E. M. (2003). Fundamentos de metodologia científica (5. ed.). São Paulo: Atlas.
- Menguc, B., & Ozanne, L. (2005). Challenges of the "green imperative": a natural resource based approach to the environmental orientation-business performance relationship. *Journal of Business Research*, 58(4), 430-438. http://dx.doi.org/10.1016/j.jbusres.2003.09.002.
- Molina-Azorín, J., Claver-Cortês, E., López-Gamero, M. D., & Tarí, J. (2009). Green management and financial performance: a literatura review. *Management Decision*, 47(7), 1080-1100. http://dx.doi.org/10.1108/00251740910978313.
- Molloy, L., Erekson, H., & Gorman, R. (2002). Exploring the relationship between environmental and financial performance. In *Proceedings of the Workshop on Capital Markets and Environmental Performance* (pp. 1-55). Laguna Beach: U.S. Environmental Protection Agency.
- Montabon, F., Sroufe, R., & Narasimhan, R. (2007). An examination of corporate reporting, environmental management practices and firm performance. *Journal of Operations Management*, 25(5), 998-1014. http://dx.doi.org/10.1016/j.jom.2006.10.003.
- Nakao, Y., Amano, A., Matsumura, K., Genba, K., & Nakano, M. (2007). Relationship between environmental performance and financial performance: an empirical analysis of Japanese corporations. *Business Strategy and the Environment*, 16(2), 106-118. http://dx.doi.org/10.1002/bse.476.
- Pedroso, M. C., & Zwicker, R. (2007). Sustentabilidade na cadeia reversa de suprimentos: um estudo de caso do Projeto Plasma. Revista de Administração da USP, 42(4), 414-430.
- Pereira-Moliner, J., Font, X., Tarí, J. J., Molina-Azorin, J. F., Lopez-Gamero, M. D., & Pertusa-Ortega, E. M. (2015). The Holy Grail: environmental management, competitive advantage and business performance in the Spanish hotel industry. *International Journal of Contemporary Hospitality Management*, 27(5), 714-738. http://dx.doi.org/10.1108/IJCHM-12-2013-0559.
- Porter, M. E. (1991). America's green strategy. *Scientific American*, 264(4), 96. Recuperado em 15 de janeiro de 2006, de http://www.hbs.edu/faculty/Pages/item. aspx?num=6107
- Porter, M. E., & Linde, C. V. D. (1995). Green and competitive: ending the stalemate. *Harvard Business Review*, 73(5), 120-134. Recuperado em 15 de janeiro

- de 2006, de http://www.uvm.edu/~gflomenh/ENRG-POL-PA395/readings/Porter Linde.pdf
- Procianoy, J. L., & Verdi, R. S. (2009). Dividend clientele, new insights, and new questions: the Brazilian case. *RAE Eletrônica*, 8(1), 1-26. http://dx.doi.org/10.1590/ S1676-56482009000100002.
- Rassier, D. G., & Earnhart, D. (2011). Short-run and long-run implications of environmental regulation on financial performance. *Contemporary Economic Policy*, 29(3), 357-373. http://dx.doi.org/10.1111/j.1465-7287.2010.00237.x.
- Robinson, M. J., Kleffner, A., & Bertels, S. (2011). Signaling sustainability leadership: empirical evidence of the value of DJSI. *Journal of Business Ethics*, 101(3), 493-505. http://dx.doi.org/10.1007/s10551-011-0735-y.
- Roy, M.-J., Boiral, O., & Lagacé, D. (2001). Environmental commitment and manufacturing excellence: a comparative study within Canadian industry. *Business Strategy* and the Environment, 10(5), 257-268. http://dx.doi. org/10.1002/bse.304.
- Sharma, S., & Vredenburg, H. (1998). Proactive corporate environmental strategy and the development of competitively valuable organizational capabilities. *Strategic Management Journal*, 19(8), 729-753. http://dx.doi.org/10.1002/(SICI)1097-0266(199808)19:8<729::AID-SMJ967>3.0.CO;2-4.
- Toffler, A. (1995). A terceira onda. Rio de Janeiro: Record.
- Tomas, G., & Hult, M. (2011). Toward a theory of the boundary-spanning marketing organization and insights from 31 organization theories. *Journal of the Academy of Marketing Science*, 39(4), 509-536. http://dx.doi.org/10.1007/s11747-011-0253-6.
- Wahba, H. (2008). Does the market value corporate environmental responsibility? An empirical examination. Corporate Social Responsibility and Environmental

- Management, 15(2), 89-99. http://dx.doi.org/10.1002/csr.153.
- Watson, K., Klingenberg, B., Polito, T., & Geurts, T. G. (2004). Impact of environmental management system implementation on financial performance. *Management of Environmental Quality*, 15(6), 622-628. http://dx.doi.org/10.1108/14777830410560700.
- Wood, D. J., & Jones, R. E. (1995). Stakeholder mismatching: a theoretical problem in empirical researchon corporate social performance. *The International Journal of Organizational Analysis*, 3(3), 229-267. http://dx.doi.org/10.1108/eb028831.
- Yahoo Finance. (2006). Recuperado em 15 de janeiro de 2006, de https://finance.yahoo.com/
- Yang, M. G., Hong, P., & Modi, S. B. (2011). Impact of lean manufacturing and environmental management on business performance: an empirical study of manufacturing firms. *International Journal of Production Economics*, 129(2), 251-261. http://dx.doi.org/10.1016/j.ijpe.2010.10.017.
- Zamcopé, F. C., Ensslin, L., & Ensslin, S. R. (2012). Construction of a model for corporate sustainability assessment: a case study in the textile industry. *Gestão* & *Produção*, 19(2), 303-321. http://dx.doi.org/10.1590/ S0104-530X2012000200006.
- Zhu, Q., Cordeiro, J., & Sarkis, J. (2013). Institutional pressures, dynamic capabilities and environmental management systems: Investigating the ISO 9000: environmental management systems implementation linkage. *Journal of Environmental Management*, 114, 232-242. http://dx.doi.org/10.1016/j.jenvman.2012.10.006. PMid:23127965.
- Zhu, Q., Sarkis, J., & Lai, K. (2007). Green supply chain management: pressures, practices and performance within the Chinese automobile industry. *Journal of Cleaner Production*, 15(11-12), 11-12. http://dx.doi.org/10.1016/j.jclepro.2006.05.021.